

۱۹۱۷۵۵

$$a_n = \frac{1}{p}, \frac{1}{p^2}, \dots \Rightarrow a_1 = \frac{1}{p}, a_2 = \frac{1}{p^2}$$

(الف) $a_1, a_2, a_3 = \frac{1}{p}, \frac{1}{p^2}, \frac{1}{p^3}$

(ب) $\frac{a_{17}}{a_{13}} = \frac{a_{17}}{a_{13}} = \frac{1/p^{17}}{1/p^{13}} = p^4$

$$a_{n+1} = \frac{1}{p} \times \left(\frac{1}{p}\right)^{n-1} = \frac{1}{p^n}$$

$$p^{n-1} = 12 \Rightarrow n = 9 \Rightarrow \text{پنجم}$$

$$a_1 = 12, a_2 = 99 \Rightarrow \frac{a_2}{a_1} = \frac{99}{12} = \frac{33}{4} = p \Rightarrow p = \frac{33}{4}$$

$$a_1 \times p = 12 \Rightarrow a_2 = 12 \times \frac{33}{4} = 99$$

$$a_1 = \frac{1}{p} \times p^2 \times p^3 = \frac{1}{p} \times p^5 = p^4$$

$$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = \frac{1}{p} \times \frac{1}{p^2} \times \frac{1}{p^3} \times \frac{1}{p^4} \times \frac{1}{p^5} = \frac{1}{p^{15}}$$

$$\sqrt[15]{\frac{1}{p^{15}}} = \frac{1}{p} \Rightarrow \frac{1}{p} = \frac{1}{2} \Rightarrow p = 2$$

$$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 1 \Rightarrow a_1 \times a_5 = \sqrt[5]{1} = 1$$

$$p^a \times p^b = p^{a+b} \Rightarrow p^a \times p^b = p^a \Rightarrow a+b = a \Rightarrow b = 0$$

$$p^a \times p^b = p^a \Rightarrow \frac{a+b}{1} = \frac{a}{1} \Rightarrow a+b = a \Rightarrow b = 0$$

$$a_1 = 1-n, a_2 = n, a_3 = n+1$$

$$a_1 \times a_2 \times a_3 = (1-n) \times n \times (n+1)$$

$$n^2 = (1-n)(n+1) \Rightarrow n^2 = 1-n^2 \Rightarrow 2n^2 = 1 \Rightarrow n = \frac{1}{\sqrt{2}}$$

$$q = \frac{a_{n+1}}{a_n} = \frac{a_{n+1}}{a_n} \Rightarrow \frac{n+1}{n} = \frac{a}{1-n}$$

$$n^2 = \frac{1}{1-n} \Rightarrow n^2 = \frac{1}{1-n} \Rightarrow n^2(1-n) = 1 \Rightarrow n^2 - n^3 = 1 \Rightarrow n^3 - n^2 + 1 = 0$$

موفق باشید!

$$a_1 + ar = 12$$

$$ar + ar^2 = 12$$

$$a + ar^2 = 12$$

$$a(1+r^2) = 12 \Rightarrow a = \frac{12}{1+r^2}$$

$$\frac{a + ar^2}{ar + ar^2} = \frac{a(1+r^2)}{ar(1+r)} = \frac{12}{12r} = \frac{1}{r}$$

$$a(1+r^2) = 12 \Rightarrow a = 9$$

$$a_1 + ar + ar^2 = 12 \Rightarrow a + ar + ar^2 = 12$$

$$a_1 \times ar \times ar^2 = 12$$

$$a^3 r^3 = 12 \Rightarrow ar = \sqrt[3]{12}$$

$$a_1 = \frac{12}{ar} = \frac{12}{\sqrt[3]{12}} = 9$$

$$a(1+r+r^2) = 12$$

$$9(1+r+r^2) = 12$$

$$1+r+r^2 = \frac{4}{3}$$

$$r^2 + r - \frac{2}{3} = 0$$

$$(r-1)(r+\frac{2}{3}) = 0$$

$$r = 1, r = -\frac{2}{3}$$

$$a_1 = 1, 9, 12, \dots$$

$$r = \frac{1}{9}$$

$$S_{10} = a \left(\frac{r^{10} - 1}{r - 1} \right) = 12 \left(\frac{\left(\frac{1}{9} \right)^{10} - 1}{\frac{1}{9} - 1} \right)$$

$$a_1 + ar + ar^2 + \dots + ar^{n-1} = \frac{a(1-r^n)}{1-r}$$

$$a, ar, ar^2, ar^3, \dots$$

$$ar - a, ar^2 - ar, ar^3 - ar^2, \dots$$

$$a(r-1), ar(r-1), ar^2(r-1), \dots$$

$$a_1, ar, ar^2, \dots, ar^{n-1}$$

$$a_n = a_1 + (n-1)d$$

$$S_n = a_1 + ar + ar^2 + \dots + ar^{n-1}$$

$$a_1 + ar + ar^2 + \dots + ar^{n-1} = S_n$$

$$S_n(1-r) = a(1-r^n)$$

$$S_n = a \left(\frac{1-r^n}{1-r} \right)$$